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gFjp - I 

(01) 3 

(02) 2 

(03) 1 

(04) 4 

(05) 4 

(06) 3 

(07) 4 

(08) 3 

(09) 2 

(10) 1 

(11) 2 

(12) 2 

(13) 3 

(14) 4 

(15) 2 

(16) 4 

(17) 1 

(18) 4 

(19) 1 

(20) 1 

(21) 4 

(22) 1 

(23) 1 

(24) 2 

(25) 4 

(26) 2 

(27) 3 

(28) 4 

(29) 3 

(30) 4 

(31) 1 

(32) 2 

(33) 1 

(34) 2 

(35) 3 

(36) 2 

(37) 1 

(38) 2 

(39) 3 

(40) 3 

 

 

 

 

 

 

 

 

 

 

(1 x 40 = 40 Gs;spfs;)
 

gFjp - II 
                               

1) (i)  ,iwthf;fpdu; kyhf;fpahy; 

  jpUKOf;F Nahthidf; Fwpj;J 

(ii)  tpUj;jNrjdk; jiykfd; mu;g;gzpg;G 

(iii)   nghJkf;fs;, tupjz;LNthu;> giltPuu;, A+j kjj;jtu;; 

(iv)  vrhah 

  ehrNuj;J mwpf;if 

(v)    “kUj;JtNu ck;ikNa ePu; Fzkhf;fpf; nfhs;Sk;” 

  “,iwthf;fpdu; vtUk; jk; nrhe;j Cupy; Vw;Wf;nfhs;sg;gLtjpy;iy” 

(vi)   ePu;f;Nfhit Nehahsp Fzkiljy; 

  if #k;gpatu; Fzkiljy; 

(vii)  rpkpNahd;> md;dh 

(viii)  mfG 

  fpshjpA Nguurd; 

(ix)  ghg;Ngh, gk;gpypah, ngUif, gprpjpah me;jpNahf;fpah, ,f;Nfhzpah yp];jpuh, 

njUig 

(x)    gpwtpapNyNa fhy; CdKw;wpUe;jtiuf; Fzg;gLj;jpaik 

(2 x 10 = 20 Gs;spfs;)
 

khfhzf; fy;tpj; jpizf;fsk; - tlf;F khfhzk; 
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2) (i) gTypd; kdkhw;wk; gw;wpa tpsf;fk; 

 capupj;j fpwp];Jit re;jpj;jy; 

 gTYf;Fk; fpwp];JTf;Fk; ,ilapyhd ciuahly; 

(ii)  JNuhth - khrpNjhdpau; cjtp Ntz;Ljy; 

  gpypg;gp - Fwp nrhy;Yk; Mtpia tpul;Ljy; 

  gTYk; rPyhTk; rpiwg;gly; 

  giltPuupd; kdkhw;wk; 

  vnjd;]; - muNahg;ghF kd;wj;jpy; gTy; ciuahw;wy; 

  nfhupe;J - mf;fpy;yh, gpup];fpy;yh gTNyhL ,izjy; 

(iii)   khztu;fspd; tpilfSf;Nfw;g Gs;sp toq;fTk; 

(3 + 3 + 4 = 10 Gs;spfs;)
 

3) (i)   “cd; KO ,jaj;NjhLk; KO cs;sj;NjhLk; KO kdj;NjhLk; KO     

Mw;wNyhLk; cd; Mz;ltuhfpa flTsplk; md;G $u;thahf”              

 “cd; kPJ eP md;G $u;tJ Nghy; cdf;F mLj;jpUg;gtu; kPJk; md;G 

$u;thahf” 

  (ii)  md;G  nghWikAs;sJ, nghwhikg;glhJ, jw;Gfo;r;rp nfhs;shJ …. 

  (iii)  khztu;fspd; tpilfSf;Nfw;g Gs;sp toq;fTk;. 

(3 + 3 + 4 = 10 Gs;spfs;)
 

 4)  (i) ,iwtdpd; mjpfhu Ml;rpf;Fs; md;gpd; mbj;jsk; %yk; kdpj cs;sq;fspy; 

cUthFk; Mokhd GJikahd nray;ghL 

  (ii)  Jd;gq;fs;> f];lq;fs;> nghUs;> Mir> cly; Neha; Nghd;wit Kl;fshf   

neUf;Fk; NghJ KOikahd gyd; nfhLf;fhjtu;fs; 

ew;nra;jpia Vw;Wf; nfhz;L rpy ehl;fSf;F khj;jpuk; mjd;gb ele;J   

Jd;gq;fs; tUk; NghJ gioa tho;f;iff;F jpUk;Ggtu;fs; 

  (iii) khztu;fspd; tpilfSf;Nfw;g Gs;sp toq;fTk.; 

(3 + 3 + 4 = 10 Gs;spfs;)
 

  5)  (i) tupr;Rik 

   kj uPjpahd rl;l jpl;lq;fspy; Vw;gl;l mOj;jq;fs;  

(ii)  mjpfhuk; gw;wpa Nfs;tp 

rPrUf;F tup nrYj;Jjy; njhlu;ghf tpdTjy; 

capu;j;njOjy; gw;wp tpdTjy; 

(iii)  khztu;fspd; tpilfSf;F Vw;g Gs;sp toq;fTk; 

(3 + 3 + 4 = 10 Gs;spfs;)
 

  6)  khztu;fspd; tpilfSf;F Vw;g Gs;sp toq;fTk;. 

(2 x 5 = 10 Gs;spfs;)
 

 

   


